



ELSEVIER

Contents lists available at ScienceDirect

Journal of Algebra

www.elsevier.com/locate/jalgebra



Recognizing the second derived subgroup of free groups

Gregory R. Conner^{a,1}, Wolfgang Herfort^{b,*,2}, Curtis Kent^{a,3},
Petar Pavešić^c

^a Department of Mathematics, Brigham Young University, Provo, UT 84602, USA

^b Institute for Analysis and Scientific Computation, Technische Universität Wien, Wiedner Hauptstraße 8-10/101, Austria

^c Faculty of Mathematics and Physics, University of Ljubljana, Jadranska 21, Ljubljana, Slovenia

ARTICLE INFO

Article history:

Received 9 April 2018

Available online 24 September 2018

Communicated by Dan Segal

Keywords:

Second derived subgroup

Baumslag–Solitar groups

Deficiency 1

ABSTRACT

The commutator subgroup of a free group is the subgroup consisting of elements contained in the kernel of every homomorphism from the free group to the integers. We give a similar characterization of the second derived subgroup of a free group. Specifically, we show that the second derived subgroup of a free group is equal to the intersection of the kernels of all homomorphisms into a solvable deficiency 1 group.

© 2018 Elsevier Inc. All rights reserved.

* Corresponding author.

E-mail addresses: conner@mathematics.byu.edu (G.R. Conner), wolfgang.herfort@tuwien.ac.at (W. Herfort), curtkent@mathematics.byu.edu (C. Kent), petar.pavesic@fmf.uni-lj.si (P. Pavešić).

¹ The first author is supported by Simons Foundation Collaboration Grant 646221.

² The second author is grateful for the warm hospitality at the Mathematics Department of BYU in February 2018.

³ The third author is supported by Simons Foundation Collaboration Grant 587001.

1. Introduction and main result

In a free group, the commutator subgroup is the set of all words such that the exponent sum of every element of the free generating set is zero. Expressed differently, the commutator subgroup is the intersection of all kernels of homomorphisms from the free group to the integers. Here we prove a similar characterization for the second derived subgroup by considering the intersection of kernels of homomorphisms of a free group into a fixed solvable deficiency 1 group.

Theorem 1. *Let F be a free group and B any deficiency 1, solvable group which is not virtually abelian. Then*

$$\bigcap_{\phi \in \text{hom}(F, B)} \ker(\phi) = F'',$$

where F'' is the second derived subgroup of F . Thus the evaluation map e gives rise to an exact sequence

$$1 \rightarrow F'' \rightarrow F \xrightarrow{e} B^{\text{hom}(F, B)}.$$

Recall that the deficiency of a group H is the largest number n such that H has a presentation in which the number of generators exceeds the number of relations by n . Since the second commutator subgroup of a free group has infinite index in the commutator subgroup, it is necessary to consider homomorphisms into a fixed solvable deficiency 1 group that is not virtually abelian.

We shall derive Theorem 1 from the following:

Theorem 2. *Let G be a free metabelian group and B any solvable deficiency 1 group which is not virtually abelian. Then*

$$\bigcap_{\phi \in \text{hom}(G, B)} \ker(\phi) = 1.$$

Expressed differently, the evaluation $e : G \rightarrow B^{\text{hom}(G, B)}$ is a monomorphism.

2. Proofs

Notation. For sets A and B , we will denote the set of functions from A to B by B^A and, when A and B are groups, the set of homomorphisms from A to B by $\text{hom}(A, B)$. When A and B are groups, B^A carries a natural group structure as follows. For ϕ and ψ in B^A , the product is the map $\phi\psi$ given by $\phi\psi(a) = \phi(a)\psi(a)$ for $a \in A$.

For elements x, y in a group G , let $x^y = yxy^{-1}$ denote the conjugation of x by y and $[x, y] = xyx^{-1}y^{-1}$ denote the commutator of x and y . We will denote the commutator subgroup of G by G' and the second commutator subgroup by G'' .

The first step to proving Theorem 2 is to characterize solvable deficiency 1 groups by applying results of Eckmann and Gildenhuys. Eckmann in [2, Corollary 3.3] showed that a finitely presented amenable group G of deficiency 1 is either isomorphic to the integers \mathbb{Z} or has cohomological dimension 2. When G has cohomological dimension 2, it follows from [3, Theorem 5] that G is a Baumslag Solitar group $B(1, m) = \langle t, a \mid tat^{-1} = a^m \rangle$. One thus obtains the following result, which was first proved by Hillman in [5, Corollary to Theorem 6] for torsion free groups. We will use the following, as stated in [8]:

Theorem 3. *If H is a solvable group of deficiency 1, then H is isomorphic to a Baumslag–Solitar group $B(1, m) = \langle t, a \mid tat^{-1} = a^m \rangle$.*

The Baumslag–Solitar group $B(1, m)$ has a normal subgroup, which we will denote by A , that as a \mathbb{Z} -module is generated by $\{a^{t^i} : i \in \mathbb{Z}\}$. Then $B(1, m)$ can be written as a semidirect product $A \rtimes \langle t \rangle$. There is an isomorphism from $B(1, m)$ onto the semidirect product

$$B = \mathbb{Z} \left[\begin{matrix} 1 \\ m \end{matrix} \right] \rtimes \mathbb{Z},$$

where

$$(a, \lambda)(a', \lambda') = (a + m^\lambda a', \lambda + \lambda'), \quad a \in \mathbb{Z} \left[\frac{1}{m} \right], \quad \lambda, \lambda' \in \mathbb{Z}.$$

The isomorphism is induced by sending $a^{t^i} \mapsto (m^i, 0)$ for $i \in \mathbb{Z}$ and $t \mapsto (0, 1)$.

The commutator subgroup G' of a metabelian group G is a right $\mathbb{Z}[G/G']$ -module for the conjugation induced action of G/G' . When $G = F[x_1, \dots, x_k]$ is the free metabelian group by a result of S. Bachmuth in [1], see also [6, p. 185] and a generalization to free groups by W. Tomaszewski in [7] (compare also [4, Theorem 5.2]), one can give a precise description of that module as follows:

Theorem 4 (Bachmuth 1965). *For the free metabelian group G with free metabelian generating set $X := \{x_1, \dots, x_k\}$, the second commutator quotient G'/G'' is a free \mathbb{Z} -module with basis*

$$[x_i, x_j]^{x_i^{d_i} \cdots x_k^{d_k}}, \quad 1 \leq i < j \leq k.$$

This theorem shows that every element w in G'/G'' can be written in a unique fashion

$$\begin{aligned}
 w &= \prod_{1 \leq i < j \leq n} [x_i, x_j]^{u_{ij}}, \\
 u_{ij} &= \sum_{d_i, \dots, d_k \in \mathbb{Z}} a_{ij d_i \dots d_k} x_i^{d_i} \cdots x_k^{d_k} \in \mathbb{Z} \left[x_i, \dots, x_k, \frac{1}{x_1}, \dots, \frac{1}{x_k} \right],
 \end{aligned}
 \tag{1}$$

where $a_{i_1 j_{i_1} \dots j_{i_k}} \in \mathbb{Z}$ and the sum is finite. The terms w_{ij} are then finite Laurent polynomials in the variables x_1, \dots, x_k .

Proof of Theorem 2. Since \mathbb{Z}, \mathbb{Z}^2 , and the Klein bottle group are virtually abelian, a solvable group of deficiency 1 that is not virtually abelian is isomorphic to $B(1, m)$ where $m \neq 0, \pm 1$ by Theorem 3. Thus to prove Theorem 2, we need only consider homomorphisms into a fixed Baumslag–Solitar group $B(1, m)$ with $|m| > 1$.

Let G be a free metabelian group and $K := \bigcap_{\phi \in \text{hom}(G, B)} \ker(\phi)$. By way of contradiction, suppose that $K \neq \{1\}$ and fix $w \in K \setminus \{1\}$.

Let X be a set of free generators of G and assume for a moment that it is infinite. Then w is a word in elements from a finite subset S of X and thus, first factoring the normal closure of $X \setminus S$ reduces the situation to the finitely generated case.

Hence, we may assume that G is finitely and freely generated by some set $X := \{x_1, \dots, x_k\}$.

Observe that w must belong to G' ; otherwise there would exist a homomorphism $\phi : G \rightarrow \langle (0, 1) \rangle \cong \mathbb{Z}$ with $\phi(w) \neq 1$. The same argument implies $k \geq 2$.

By Bachmuth’s result (Theorem 4), we can assume that w is written in normal form as in Eq. (1). We will induct on the number k of generators of G . We already concluded that $k \neq 1$ and we will now show that $k \geq 3$.

Suppose that $k = 2$. Then $w = [x_1, x_2]^u$ where $u = \sum_{i, j \in \mathbb{Z}} a_{ij} x_1^i x_2^j$ and a_{ij} is nonzero for only finitely many pairs (i, j) . Thus we can find distinct $\lambda, \mu \in \mathbb{N}$ such that if $a_{ij}, a_{i'j'} \neq 0$ and $\lambda i + \mu j = \lambda i' + \mu j'$, then $(i, j) = (i', j')$. Thus, for any $\nu \in \mathbb{N}$, if $a_{ij}, a_{i'j'} \neq 0$ and $\nu \lambda i + \nu \mu j = \nu \lambda i' + \nu \mu j'$, then $(i, j) = (i', j')$.

Define $\phi_\nu : G \rightarrow B$, by sending $x_1 \mapsto (0, \nu \lambda)$ and $x_2 \mapsto (1, \nu \mu)$ and then extending ϕ to an element in $\text{hom}(G, B)$ via the universal property of the free metabelian group $G = F[x_1, x_2]$. Since $w = [x_1, x_2]^u$ where u is a finite sum $u = \sum_{i, j \in \mathbb{Z}} a_{ij} x_1^i x_2^j$, an elementary computation yields

$$(0, 0) = \phi_\nu(w) = \left((m^{\nu \lambda} - m^{\nu \mu}) \sum_{i, j \in \mathbb{Z}} a_{ij} m^{\nu \lambda i + \nu \mu j}, 0 \right).$$

The first coordinate being an element of the subring $\mathbb{Z}[1/m]$ of \mathbb{Q} and $\lambda \neq \mu$ imply

$$\sum_{i, j} a_{ij} m^{\nu \lambda i + \nu \mu j} = 0.$$

Since this sum is 0 for all $\nu \in \mathbb{N}$ and the exponents of m are distinct whenever a_{ij} is nonzero, we can deduce that $a_{ij} = 0$ for all $i, j \in \mathbb{Z}$. Thus $u = 0$ which implies that $w = 1$, a contradiction.

We will now assume $k \geq 3$. If ψ is any homomorphism from G to a free metabelian subgroup L with rank strictly less than k , then $\psi(w) \in \bigcap_{\phi \in \text{hom}(L, B)} \ker(\phi)$. By induction, $\bigcap_{\phi \in \text{hom}(L, B)} \ker(\phi) = 1$ and thus $w \in \ker(\psi)$.

Let $\phi_1 : G \rightarrow L := F[x_2, \dots, x_k]$ be the endomorphism that sends $x_1 \mapsto 1$ and $x_i \mapsto x_i$ for $2 \leq i \leq k$. Then, for $2 \leq i < j \leq k$, we can deduce that $u_{ij} = 0$ in Eq. (1). Thus $w =$

$$\prod_{1 < i \leq n} [x_1, x_i]^{u_{1i}} \text{ where } u_{1i} = \sum_{d_1, \dots, d_k \in \mathbb{Z}} a_{1id_1 \dots d_k} x_1^{d_1} \cdots x_k^{d_k} \in \mathbb{Z} \left[x_1, \dots, x_k, \frac{1}{x_1}, \dots, \frac{1}{x_k} \right].$$

For $2 \leq l \leq k$ and $\lambda > 0$, let $\phi_{\lambda,l} : G \rightarrow F[x_1, \dots, x_k] \leq G$ be the endomorphism that sends the generator $x_l \mapsto x_1^\lambda$ and sends $x_i \mapsto x_i$ for $i \neq l$.

Then in Eq. (1) the term $[x_1, x_l]^{u_{1l}}$ is sent to 1 by $\phi_{\lambda,l}$ and for $i \notin \{1, l\}$ the term $[x_1, x_i]^{u_{1i}}$ is sent to $[x_1, x_i]^{v_i}$ where v_i results from u_{1i} by plugging in x_1^λ for x_l .

Pick $i \neq l$. We can write u_{1i} as a finite sum of the form

$$u_{1i} = \sum_{m,n \in \mathbb{Z}} a_{imn} x_1^m x_l^n,$$

where a_{imn} is a Laurent-series in the variables x_j for $j \notin \{1, l\}$. Thus under the endomorphism $\phi_{\lambda,1}$ the exponent of u_i becomes $v_i = \sum_{m,n \in \mathbb{Z}} a_{imn} x_1^{m+\lambda n}$. By choosing λ sufficiently large such that the absolute value all exponents of x_1 are pairwise distinct, we can see that the coefficients a_{imn} must all vanish and thus the term u_{1i} must also vanish.

Letting l vary from 2 to k implies $u_{1i} = 0$ for all $1 \leq i \leq k$ and hence $w = 1$, a final contradiction. \square

Proof of Theorem 1. As we already noted, Theorem 3 implies that B is a Baumslag–Solitar group $B = B(1, m)$ with $m \neq 0, \pm 1$. Let $N = \bigcap_{\phi \in \text{hom}(F, B)} \ker(\phi)$.

Since B is metabelian, it follows that $F'' \subset N$. Suppose there exists $g \in N \setminus F''$. Since F/F'' is free metabelian, Theorem 2 implies that there is a homomorphism $\phi : F/F'' \rightarrow B$ with $\phi(gF''/F'') \neq 1$. Letting $\pi : F \rightarrow F/F''$ denote the canonical quotient homomorphism, we see that $\phi \circ \pi(g) \neq 1$, contradicting $g \in N$. Hence $N \leq F''$ holds as well. \square

References

- [1] S. Bachmuth, Automorphisms of free metabelian groups, *Trans. Amer. Math. Soc.* 118 (1965) 93–104. MR 0180597.
- [2] Beno Eckmann, Amenable groups and Euler characteristic, *Comment. Math. Helv.* 67 (3) (1992) 383–393. MR 1171301.
- [3] Dion Gildenhuys, Classification of soluble groups of cohomological dimension two, *Math. Z.* 166 (1) (1979) 21–25. MR 526863.
- [4] K.W. Gruenberg, Residual properties of infinite soluble groups, *Proc. Lond. Math. Soc.* (3) 7 (1957) 29–62. MR 0087652.
- [5] Jonathan A. Hillman, Elementary amenable groups and 4-manifolds with Euler characteristic 0, *J. Aust. Math. Soc. Ser. A* 50 (1) (1991) 160–170. MR 1094067.
- [6] John C. Lennox, Derek J.S. Robinson, *The Theory of Infinite Soluble Groups*, Oxford Mathematical Monographs, The Clarendon Press, Oxford University Press, Oxford, 2004. MR 2093872.
- [7] Witold Tomaszewski, A basis of Bachmuth type in the commutator subgroup of a free group, *Canad. Math. Bull.* 46 (2) (2003) 299–303. MR 1981684.
- [8] John S. Wilson, Soluble groups of deficiency 1, *Bull. Lond. Math. Soc.* 28 (5) (1996) 476–480. MR 1396147.